Topic 6
In this topic you will be asked to investigate whether or not the end of Britain’s policy of appeasement was to blame for the outbreak of WW2.

In order to successfully answer a question on this topic you must remember to consider the following points:-

· Why did Britain abandon their policy of appeasement?

· How and what did Hitler do to “protect” Germany from Britain’s change of policy?

· Why did Hitler focus on Poland?

· Why did Britain not make an agreement with Russia?

· Why was Russia’s strategic position important?

· What surprised Britain about the signing of the Nazi-Soviet Non Aggression Pact?

· What tactics did Hitler adopt to invade Poland?

· What was Britain’s reaction to the Polish invasion?

A typical essay question for this topic would be:-

“Britain ending their policy of appeasement was responsible for the outbreak of war” How far do you agree with this statement?
